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QUESTION 1

View the Exhibit and examine the structure of ORD and ORD_ITEMS tables. 

In the ORD table, the PRIMARY KEY is ORD_NO and in the ORD_ITEMS tables the composite PRIMARY KEY is
(ORD_NO, ITEM_NO). 

Which two CREATE INDEX statements are valid? (Choose two.) 

A. CREATE INDEX ord_idxON ord(ord_no); 

B. CREATE INDEX ord_idxON ord_items(ord_no); 

C. CREATE INDEX ord_idxON ord_items(item_no); 

D. CREATE INDEX ord_idxON ord,ord_items(ord_no, ord_date,qty); 

Correct Answer: BC 

 

QUESTION 2

View the Exhibit and examine the data in the LOCATIONS table. 
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Evaluate the following SOL statement: 

SELECT street_address FROM locations WHERE REGEXP_INSTR(street_address,\\'[^[: alpha:]]\\') = 1; 

Which statement is true regarding the output of this SOL statement? 

A. It would display all the street addresses that do not have a substring \\'alpha\\'. 

B. It would display all the street addresses where the first character is a special character. 

C. It would display all the street addresses where the first character is a letter of the alphabet. 

D. It would display all the street addresses where the first character is not a letter of the alphabet. 

Correct Answer: D 

 

QUESTION 3

Evaluate the following query: 

SELECT INTERVAL 300\\' MONTH, 

INTERVAL 54-2\\' YEAR TO MONTH, 

INTERVAL \\'11:12:10.1234567\\' HOUR TO SECOND 

FROM dual; 

What is the correct output of the above query? 

A. +25-00, +54-02, +00 11:12:10.123457 

B. +00-300, +54-02, +00 11:12:10.123457 

C. +25-00, +00-650, +00 11:12:10.123457 
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D. +00-300, +00-650, +00 11:12:10.123457 

Correct Answer: A 

 

QUESTION 4

View the Exhibit and examine the data in the LOCATIONS table. 

Evaluate the following SOL statement: SELECT street_address FROM locations WHERE 

REGEXP_INSTR(street_address,\\'[^[: alpha:]]\\') = 1; 

Which statement is true regarding the output of this SOL statement? 

A. It would display all the street addresses that do not have a substring \\'alpha1. 

B. It would display all the street addresses where the first character is a special character. 

C. It would display all the street addresses where the first character is a letter of the alphabet. 

D. It would display all the street addresses where the first character is not a letter of the alphabet. 

Correct Answer: D 

 

QUESTION 5

View the Exhibit and examine the structure of the EMPLOYEES table. 
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You want to retrieve hierarchical data of the employees using the top-down hierarchy. Which SQL clause would let you
choose the direction to walk through the hierarchy tree? 

A. WHERE 

B. HAVING 

C. GROUP BY 

D. START WITH 

E. CONNECT BY PRIOR 

Correct Answer: E 
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